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2018
2nd Semester
CHEMISTRY
PAPER—GEZT
(Generic Elective)
Full Marks : 40
Time : 2 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Nustrate the answers wherever necessary.

Group-A
1. Answer any five questions . - Sx2

(3) KI is soluble in ethanol but KCl is insoluble in
ethanoi— Explain.

(llzo] PbCl, exists but Pbl, does not — Explain.

(c) Covalent compounds possess definite geometrical
shape — why ?

(Turn Quer)



(d) At constant temperature the total internal kinetic

energy of all ideal are same -- Explain. -
i

(e} Above 31°C, CO, gas can not be liquified by applying
pressure — why ?

(i) For a particular reaction the half life period is
proportional to the initial concentration of the
reactant. What will be the order of the reaction ?

(g) Write down the SI unit of van der Waals’ constant ‘a’
and b’. '

(h) What is ¢ bond and x bond ?

Group-B N
Answer any four questions. . 4x5

2. {a) Write Born Lande equation and explain all the terms.

How lattice energy can be measured from this
equation ?

(b) What is inert pair effect ? 3+2

3. (a) Define polarisation. Deduce Fajan’s rules regarding
polarisation.

(b) Bond angle of OF, is smaller than OCl, — Expiain.“‘
3+2
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4. (a) Write down the full name of LCAO, Define bond order.

(b) Write down MO diagram of O, molecule. From this
diagram calculate the bond order of O, molecule.
' 2+3

5. (a) Derive equation of state for ideal gas from the relation
PV = :};man :

(b) Calculate the value of C,, for Ny molecule at 27°C.
2%3

6. {a) What do you mean by mean free path ? Show that

mean free path is proportional to T/p.

|(1:::} ‘Write down the differences between order and

molecularity of a reaction. 3+2

7. i{a) What is Surface Tension? Write down its SI unit ?
What will be the value of Surface Tension of a

substance at its critical temperature ?

.(b) Give example of an autocatalysed reaction with

complete reaction. 3+2
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Group-C

Answer any one question. 10x1 *

8. (a} Consider the reaction A + 2B = 3C. Express the rate
of the reaction in terms of the concentration of each
of A, B and C. Deduce a relation between rate
constant and concentration of the reactant for lst
order reaction. 1+3

b) A reaction is allowed to occur with catalyst at one time
and without catalyst at another time, Explain
wheather the enthalpy. of the reaction {AH} will be
same for both cases or not ? &

(c}) What is critical temperature? With the help of
van der Waals' equation deduce the expression for
critical temperature (T ). 1+3 v

9. (a) What is dipole moment ? Write down its unit, Why is
dipole moment of NH, greater than that of NF, ?
1+1+2

(b) Write a comparative discussion between gr-15 and
gr-16 elements with respect to their lst and 2nd
iomsation potential. 4

{c) Arrange the following with respect to their increasing
orcler of ionic radii
Na*, Mg*4, a1*3 1

(d) Boron and Silicon show chemical similarity though
they are elements of different groups. Why ? 1
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